AT OPITRI 1. REE T T AEREMHE (£03)

(L RRT )

(AL 5 M)

R2 R3 R4 R5 R6
feorER (a) 165 385
BT AJER (b) 6 2
AT (c=a+h) 171 387
RITAEEE 2 B OMEREE (d) 0 0
KILFER (e) 171 369. 258
BRI (F) 0 17. 742
9 HARZKEE (o) 0 0
AHE (h = ctd-ef) 0 0
KRR+ AHFE (h = (gth) /(ctd)) 0 0
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AT OPITRI 2. REEE T T AEEME (£03)

(L RRT )

(B9 « Z4)

(AL 5 M)

R2 R3 R4 R5 R6
flsy#a (a) - 58.5
FHEBIE A AREE (b) - 0
ZAFEE (c=atb) - 58.5
BIAEE D B OEEE (d) - 0
KILFER (e) - 26. 081
FUEE R () - 32. 419
5 AR MEE () - 0
A (h = ctd—e—f) - 0
REAE+ A HE (= (g+h) / (c+d)) - 0
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